PARLIAMENTARY PROCEDURE 

VOTING CALCULATION PROBLEMS 2

DEVELOPED AT THE 

PARLIAMENTARY PROCEDURE 

INSTRUCTIONAL MATERIALS CENTER

INSTRUCTIONAL MATERIALS   ●  CONSULTING  ●   WORKSHOPS AND SEMINARS

www.northwest.net/parli-pro
BY

SHANE D. DUNBAR, MEd, PRP, PAP

(Professional Registered Parliamentarian, Professional Accredited Parliamentarian)

dunbar@northwest.net/parli-pro
TEACHING SUGGESTIONS 

1. Make certain that students have satisfactorily completed Parliamentary Procedure Voting Calculation Problems 1 before attempting these problems. 

2. Review the directions and definitions on page 2 with your students.

3. Allow the students to complete the ten problems on the worksheets on pages 2-4, using the Table for Determining Majority and Two-Thirds Votes on page 5 (if needed).

4. Correct the worksheets and review the answers for the problems with the students using the key on page 6.

5. Administer the 20-question test on pages 6 and 7 to the students.

6. Correct the test and review the answers with the students using the key on page 9.
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PARLIAMENTARY PROCEDURE VOTING CALCULATION PROBLEMS 2

(Developed at the Parliamentary Procedure Instructional Materials Center  (www.northwest.net/parli-pro)  

by Shane D. Dunbar, MEd, PRP, PAP)

WORKSHEET

DIRECTIONS:  Use the Table for Determining Majority and Two-Thirds Votes on page 5, if necessary,  to solve the problems. Assume the members who are present at the meeting are considering New Business on the agenda. Students should complete Parliamentary Procedure Voting Calculation Problems 1  before attempting these problems.

DEFINITIONS: A quorum is the number of voting members who must be present at a meeting in order that business can be legally transacted. A majority vote is “more than half “ of the votes cast. A two-thirds vote means at least two-thirds of the votes cast. A motion that receives a tie vote (equal number of affirmative and negative votes) is lost, since it did not receive a majority of the votes cast. Normally, the chair can only vote when his/her vote would change the outcome of the vote or if the vote is by ballot.

1. Name of organization:  The Society for Agricultural Education Parliamentarians (SAEP)

Membership:  80

Quorum:  Majority of the members

The SAEP is holding its annual meeting at Indianapolis, Indiana and 41 members are present. While a Main Motion is pending, it is moved and seconded  “that when this meeting adjourns, it stand adjourned to meet at 2:00 p.m. tomorrow.”  

1.1 If the final vote on the immediately pending question to Fix the Time to Which to Adjourn is 20 in the affirmative and 18 in the negative, is it adopted? 

1.2 What is the minimum number of votes required to adopt the Main Motion if all members present vote?

2. Name of organization:  The Paradise High School FFA Chapter

Membership:  22

Quorum:  Majority of the members

The Paradise High School FFA Chapter is holding its regular meeting with 18 members present.  A main motion “to purchase FFA Jackets for all officers” is pending. 

2.1 If a member moved the Previous Question and it was seconded, and all members present voted, how many voted in the affirmative if 6 members voted in the negative? 

2.2 Was the motion for the Previous Question adopted? If the motion for the Previous Question is adopted, what action would the chair take on the Main Motion?

3. Name of organization:  The Paradise  University Astronomy Club

Membership:  18

Quorum:  Fifty per-cent of the members

The Paradise University Astronomy Club is holding its regular meeting with 9 members present.  A main motion is made and seconded “that the club purchase a new Backpack Observatory Telescope.”  An amendment is then made and seconded to add “and the price is not to exceed $500.” Eight members participate in a vote on the amendment, and the final vote is 5 in the affirmative and 3 in the negative.  

3.1 Is the amendment adopted?  

One member immediately leaves the meeting room after the negative vote is taken and goes home.  A vote on the main motion is eventually made and all eight of the remaining members present vote in the affirmative.  

3.2  Is the main motion adopted? 

3.3 Why?

4.    Name of organization:  Nursery and Landscape Association

Membership:  103

Quorum:  Majority of the members

Seventy-three members of the local chapter of the state Nursery and Landscape Association are meeting and a motion  “that our chapter visit the Paradise University greenhouses on the first Saturday in June” is pending.  While that motion is pending, it is moved and seconded “that debate be limited to one speech for each member.”  

4.1 If 58 of the members present cast a vote, what is the minimum number of affirmative votes required to adopt the motion to        

       limit debate?

5.   Name of organization:  City Council

Membership:  15

Quorum:  Majority of the members

The local  City Council has a motion on the floor “that a gymnasium be constructed at the city park.”  An amendment is made and seconded  “to add ‘and the total cost will not exceed 15 million dollars.’ ”  After several minutes of debate, it is moved and seconded to amend the amendment by “striking out ‘15’ and inserting ’10.’ “  

5.1 What is the minimum number of votes required to adopt the secondary amendment if all ten of the members who are present vote? 

5.2 What is the minimum number of affirmative votes required to adopt the primary amendment if nine members cast a vote? If                

               the primary amendment is adopted, is the main motion also adopted? 

        5.3 Why?

6.  Name of organization:  Boys and Girls Club Board of Directors

     Membership:  13

     Quorum:  Fifty-one per cent of the members

Nine members of the local Board of Directors for the Boys and Girls club are conducting a regular business meeting and a motion  “to add a 2000 square foot weight training room to the gymnasium” is pending. It is moved and seconded “to postpone the motion indefinitely.” 

6.1 If all the members attending the meeting cast a vote, what is the minimum number of affirmative votes it would take to adopt    

       the motion to Postpone Indefinitely? 

6.2 If the motion to Postpone Indefinitely is not adopted, what is the minimum number of affirmative votes that would have to   

       be cast to adopt the Main Motion if  7 of the 9 board members vote?

7.    Name of organization: Organic Farming Association

Membership:  1250

Quorum:    Twenty-five per cent of the members 

The local unit of the Organic Farming Association is holding its annual meeting and a motion is pending “that the unit  sponsor an essay contest for high school students.”  After debate, all 314 members present cast a vote and 157 voted in the affirmative and 157 voted in the negative.  

7.1 Was the motion adopted? 

7.2 Why? 

A motion for a Division of the Assembly was then made by a member and the chair took another vote by having the members stand.  The standing vote was 157 in the affirmative and 156 in the negative.  

7.3  How should the chair vote if he/she wanted the motion not to be adopted? 

Later, during the same meeting another motion was made and seconded “to appoint a committee of three to report back at the next annual meeting to investigate the feasibility of conducting an essay contest.”  The 310 members that were present all voted in favor of the motion.  

7.4 Was that motion adopted?

8.    Name of organization: Turfgrass Society

Membership:  99

Quorum:  Majority of the members

Fifty members of the local chapter of the Turfgrass Society are conducting a regular monthly meeting.  The following motions are pending and received the affirmative (aye) and negative (no) voice votes indicated in parentheses.  Which motions were adopted?

8.1 To donate 100 copies of the current edition of Robert’s Rules of Order Newly Revised to Paradise High School. (26    

       affirmative, 24 negative)

8.2 To amend by striking out “100” and inserting “50.” (23 affirmative and 19 negative)

8.3  Extend debate “to allow each member to speak three times on all debatable motions.” (33 affirmative and 17 negative) 

8.4  “I move the previous question “ (25 affirmative and 24 negative) 

        8.5  Adjourn  (25 affirmative and 25 negative)

9. Name of organization:  Aquaculture Society

Membership:  60

Quorum:  Majority of the members

Assume there is an annual meeting of the State Aquaculture Society in session.  There are 33 members present and they all participate in a vote.

9.1  What is a majority vote on a motion?

       9.2  What is a two-thirds vote on a motion?

9.3  What is a majority of the entire membership?

9.4  What is two-thirds of the entire membership?

9.5  What is a majority of the members present?

9.6  What is two-thirds of the members present?

10. Name of organization:  Society of American Forests

Membership:  37

Quorum: Twenty per cent of the members

If all the 37 members of the State Society of American Forests are present at a meeting and they ALL cast a vote on every motion listed below, what is the minimum number of votes it would take to adopt each one?

10.1  Adjourn









10.2  Recess 




10.3  Lay on the Table 



10.4  Point of Order



10.5  Division of a Question
10.6  A motion “to donate $5000 to the Paradise High School FFA Chapter  to develop their land laboratory.”

10.7  Previous Question
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ANSWER KEY

VOTING CALCULATION PROBLEMS   

1. 1.1  The privileged motion to Fix the Time to Which to Adjourn requires a majority vote to be adopted.  Thirty-eight members cast    

               a  vote,  and 20 voted in the affirmative and 18 in the negative.  Therefore, the motion was adopted.  

1.2  The minimum number of votes required to adopt the Main Motion is 21, which is a majority of the 41 members who were  

       present and voted.

2. 2.1  There were 18 members present and they all voted.   If 6 members voted in the negative, then 12 members (18 – 6) voted in         

               the  affirmative.  The motion for the Previous Question requires a 2/3 affirmative vote to be adopted.  Therefore, that motion    

               was  adopted, since it received 12 affirmative votes.

        2.2   If the Previous Question is adopted, the chair would immediately take a voice vote on the Main Motion.

3. 3.1  Yes, the amendment received a majority vote and is adopted.

3.2 The Main Motion is not adopted even though it received a unanimous vote because there was not a quorum present.  A    

       quorum  of the Paradise University Astronomy  Club  is 9 of the 18 members (50%).  Only 8 members were present, so any   

       motion adopted without a quorum in null and void.

4.    4.1  In order to be adopted, the motion to Limit Debate requires a minimum of 39 affirmative votes (two-thirds).

5.     5.1   If ten members vote on the secondary amendment “to strike out ‘15’ and inserting ’10,’” it would take a minimum of 6    

                affirmative votes to adopt it (majority). 

 5.2  If 9 votes are cast, it would take 5 affirmative votes to adopt the primary amendment (majority).

5.3 If the primary amendment is adopted, the Main Motion is not adopted.  The Main Motion would have to be opened for    

       debate and voted on separately.

6.    6.1  It would take a minimum of 5 affirmative votes if 9 votes were cast to adopt the motion to Postpone Indefinitely  (majority).

       6.2  It would take a minimum of 4 affirmative votes if 7 votes were cast to adopt the Main Motion (majority).

7. 7.1  The motion was not adopted.

7.2  The vote was a tie, 314 in the affirmative and 314 in the negative (the vote is not not a majority).

        7.3  The chair should vote in the negative, thus creating a 157-157 tie and the motion would not be adopted.

        7.4  The motion to Refer to a Committee was not adopted because there were only 310 members present, which is not a quorum.

               A quorum is 313 of the members [25%  x 1250  = 312.5, which is 313 members (rounded off)].

8. 8.1  Fifty total votes cast and motion was adopted.  Requires 26 minimum affirmative votes (majority).

8.2  Forty-two votes cast and motion was adopted.  Requires 22 minimum affirmative votes (majority). 

8.3 Fifty votes cast and motion was not adopted.  Requires 34 minimum affirmative votes (two-thirds).

8.4 Forty-nine votes cast and motion was not adopted.  Requires 33 minimum affirmative votes (two-thirds).

8.5 Fifty vote cast and motion was not adopted because if was a tie (25 affirmative and 25 negative). Requires 26 minimum affirmative votes to be adopted if 50 votes are cast (majority).

9. 9.1  A majority vote on a motion is 17.


9.4  Two-thirds of the entire membership is 40.

9.2 A two-thirds vote on a motion is 22.

9.5  A majority of the members present is 17.

9.3 A majority of the entire membership is 31.  

9.6  Two-thirds of the members present is 22.

10. 10.1  Adjourn—19 votes (majority)






10.2
  Recess—19  votes (majority)








10.3  Lay on the Table--19 votes (majority)





        10.4  Point of Order--Usually no vote, the chair rules. If chair does not wish to rule, decided by a majority vote of the assembly.

        10.5  Division of a Question—19  votes (majority)

10.6 A motion “to donate $5000 to the Paradise High School FFA Chapter to develop their land laboratory.”  This is a Main    

         Motion—19  votes (majority) 

10.7  Previous Question—25  votes (two-thirds)

PARLIAMENTARY PROCEDURE VOTING CALCULATION PROBLEMS 2

TEST

NAME:  _________________________________________          PER-CENT CORRECT:  ______________

DIRECTIONS:  For questions 1-10 write the best answer in the blank to the left of each question number from the four choices for each question. For questions 11-20,  place the one, best answer  from the KEYS in the blank to the left of each question number. If necessary, use the Table for Determining Majority and Two-Thirds Votes for determining your answers.

___ 1.
A quorum is the minimum number of voting members


A.  who must debate in favor of a motion.

B.  that are necessary to vote in the negative on Main Motions.

C.  required to be present to legally conduct business in the name of the society.

D. None of the above.

___ 2.
An organization has 77 members and a quorum is a majority.  What is the minimum number of members who must attend a regular meeting in order to legally conduct business?


A.  39


B.  51

C. 75

D. None of the above

___ 3.
If you were the chairman, how would you rule if a Main Motion received an equal number of affirmative and negative votes?


A.  The motion is lost because it did not receive a majority of the votes cast.

B.   The 
chair would have to vote in the affirmative.

C.   The vote of the member who made the Main Motion would not be counted as one of  the affirmative votes.

D.  None of the above.


___ 4.
If a vote on an Amendment is 15 in the affirmative and 15 in the negative, the only vote the chair may cast is in the


A.  negative.


B.  affirmative.


C.  negative or affirmative (cannot abstain).


D.  None of the above

___ 5.
A quorum of 50 members is attending a meeting.  What is the minimum vote required to adopt a Main Motion?


A.  17


B.  25


C.  36


D.  None of the above

___ 6.
A regular monthy meeting of a society is being held and a minimum quorum of 50 members is present.  A Main Motion is made and seconded. Ten (10) members are not present in the meeting room when an Amendment is made and seconded, and 40 members cast a vote.  What is the minimum vote required to adopt the Amendment?


A.  21


B.  26


C.  27


D.  None of the above

___ 7.
A motion to Fix the Time to Which to Adjourn at a regular meeting is pending.  A standing vote is taken and the vote is 25 in the affirmative and 24 in the negative, without the chair’s vote.  The chair must  _______ in order for the motion to be adopted.


A.  vote in the affirmative.


B.  abstain.


C.  vote in the negative.


D.  None of the above

___ 8.
A Main Motion is pending at a regular weekly meeting .  What is the minimum affirmative vote required to adopt a motion to stop debate (Previous Question) if all 89 members present cast a vote?


A.  45


B.  60


C.  67


D.  None of the above

___ 9.
The following motions are all pending at a regular monthly meeting:  Main Motion, Postpone Indefinitely, Postpone to a Certain time, and Lay on the Table. If all the 62 members in attendance cast a vote on the motion to Lay on the Table, what is the minimum negative vote it would take so it would not be adopted?


A.  62


B.  42


C.  32


D.  None of the above

___10.
All 9 members of a school board are holding their regular monthly meeting. A motion to construct a new qymnasium is made and seconded and another member immediately says, “I object to the consideration of the question.”  What is the minimum vote would it would take to sustain the objection if all members cast a vote?

A.  9


B.  6


C.  5


D.  None of the above

Use the KEY below to answer questions 11-16

A.  13


B.   16


C.   17


D.   20


E.  None of the above

Name of organization:  Paradise University  Hiking Club

Membership:  30

Quorum:  Majority of the members

Assume there is a regular meeting of the Paradise University Hiking Club.  All 30 members of the club are present and 25 cast a vote on a main motion.

___11.
What is a minimum majority vote on the main motion?

___12 
What is a minimum two-thirds vote on a motion to limit debate if 20 members vote?

___13.
What is a minimum majority of the entire membership?

___14.
What is a minimum two-thirds of the entire membership?

___ 15.
What is a minimum majority of the members present?

___ 16.
What is a minimum two-thirds of the members present?

Use the KEY below to answer questions 17-20

A.  27

B.  36

C.  25

D.  26

E.  None of the above

Name of organization:  Paradise County Computer Club

Membership:  100

Quorum: Fifty-one per cent of the members

Assume there is a regular meeting of the Paradise County Computer Club.  Fifty-three members of the club are present. 

___17.
If 49 of the 53 members present cast a vote on a main motion “to purchase a new laptop computer,” what is the minimum vote required to adopt it?

___ 18.
A motion is made and seconded to amend the Main Motion by adding “and the cost will not exceed $2000.” What is the   

            
minimum vote required to adopt the amendment if all the members present cast a vote?

___ 19.
While the amendment above is pending, a motion for the Previous Question is made and seconded and a standing vote is  

          
taken.  What is the minimum vote required to adopt it if all the members present cast a vote? 

___20.
Assume there are 50 members present at the same meeting.  What is the minimum vote it would take to adopt a new Main  

           
Motion if all the members cast a vote? 
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ANSWER KEY

TEST

 1.   C

2. A [a minimum of 39 members (a majority) would have to attend the meeting in order to have a quorum].

3. A (the motion is lost because it did not receive a majority of the votes that were cast).

4. B (on a tie vote, an affirmative vote is the only way the chair may vote. A negative vote would not matter, since it still would not    

        be adopted).

 5.    D (a Main Motion requires a majority vote to be adopted.  Twenty-six is the minimum majority for 50 votes cast).

 6.   D (since 10 members left, there is no longer a quorum, and business cannot be transacted. Any motion “adopted” is null and void.

 7.   D. (the chair would not vote because his/her vote would not have an effect on the outcome).

8. B  (the motion, Previous Question, requires a minimum two-thirds vote of 60  to be adopted).

9. C (a minimum majority of the 62 members who vote is 32).

10. B (the motion to Object to the Consideration of a Question requires a minimum two-thirds negative vote of 6 votes to sustain the    

        objection). 

11. A (minimum majority vote of the 25 members who voted is 13).

12. E  (a minimum two-thirds vote of the 20 members who voted  is 14.  The motion to limit debate requires a two-thirds vote to be   

        adopted).

13.  B  (a minimum majority vote of the entire membership of 30 is 16).

14.   D  (a minimum two-thirds vote of the entire membership of 30 is 20).

15. B  (a minimum majority vote of the 30 members present is 16).

16. D  (a minimum two-thirds vote of the 30 members present is 20).

 17.    C (a minimum majority vote of the 49 votes cast is 25).

18.    A (a minimum majority vote of the 53 votes cast is 27).

19.  B (a minimum two-thirds vote of the 53 votes cast is 36. The Previous Question, which requires a two-thirds vote).

20.  E (There cannot be a valid vote, because only 50 of the 100 members were present, which is NOT a quorum. 

        51%  x  100 members = 51 members must b e present for a quorum).
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